EF#H 2025/6/17

REX

A ZEZ{IRS
INTIN—=— XS150

¥3% 2009%F 1A
20128 &1t

BEICERmita 2L UL\EImE S WET , BhmiticHARIIZ S m
DEBERRICLVEEDARIEEHYET . FHT THRIIETL,
FEBEHOIHRE., =FY DREXBEFRAAASHEVWEDET I,

HUMOR T BARCIITEERY MR TETRVESEIYVET,
O T (FF)ICBALELTRITIC, RIS THYET,.

N/\—)—150
(FI—VNAA{TFE)
[380320]

LN



gE#H 2025/6/17

1 AKER

380320 /\1/\—Y— 150




380320 /\1/\—Y— 150 FHH  2025/6/17

1. AKRER
N#E| BmES B om f WE| 1FESMm wE
1 ZIMFESRANTERILE (M5X16) 1 170 ek T
21381009 |V—iRILY GEXNA) 1 — Sk
21381008 |V—mILY(EXNA) 1 — Sk
3 HPO3 |Z—RILRF7UT (KN6/10T2) 3 2,240 HigHR T
4 ( HPO4 |E~ 3 170 ek T
5 AIFESNBIREGESRILE (M5%20) 4 170 HaRR T
6| HPO6 [FrOvorsaiut=itsnat (M8X6) 1 270 ek T
7|1 HPO7 |RZTUVJE 1 320 ek T
8 Sk (D 6.35) 1 240
9 oWz (5-18) 1 170
10| HP10 |2—ILTL—k 2 470 ek T
11| HP11 |o—bikv+ 1 330 Hiaik T
12| HP12 |REVRIVL(TSUIv) 1 29,230 HEaHR T
13| HP13 |V (D6) 1 520 Hiaik T
14| HP14 |RU—T 1 1,200 HiaRR T
15| HP15 |A«/kTJOvo HFEQDEESD 1 35,580 Hiaik T
16 HP16 |HR—IL/vyFRU 1 4,970 e T
17 NATUTSIEHRU (M5x8) 1 170 ek T
18| HP18 |7wiN—HhiI\— 1 9,160 HIaHR T
19| HP19 [RRILFVE(REVRID) 1 3,820 Hiaik T
20| HP20 |RSRNIYVIW(Fo59—=)20) 1 2,340 HEaHR T
21| HP21 |RSREZ—=RIIRTIVT 1 1,530 AR T
22| HP22 |dxoF740TE—X 1 1,530 HEaHR T
23| HP23 |RRILFY 1 16,150 Hiaik T
24 | HP24 | R7UT (6202VV) 1 1,170 iR T
25| HP25 [7vi+v(A) 1 170 ek T
26 NATMTEISUIURILE (M5%X12) 1 170 IR T
27 | HP27 [HYUTL—K(R—X) 1 770 Hiaik T
28 | HP28 |#&&h/\— 1 4,580 HEaHR T
29 | HP29 |FvH/IN— 1 9,160 Hiaik T
30 I—OVIRIFERRRL (M4X12) 3 170 Hiee T
31 TZ50IFEYvERLU (D5X30) 4 170 HigHe T
32| HP32 |[R7PUDTIvI+w(C) 1 170 HiaHR T
33| C154 | R7UVT (6000VV) 1 2,170 HigHe T
34| HP34 |E& 1 240 HiaHR T
35| HP35 |v—Ovommial (M5x12) 1 170 Hiaik T
36 | HP36 (R7PUVTFvvS 1 470 HiaHR T




380320 /\1/\—Y— 150 EH 2025/6/17
2.E—45-F1T—VIN\M1RER




380320 /\1/\—Y— 150 EFHH 2025/6/17
2.E—5 - F1—2I\1ARXER

M| SBmES B W % WE| 1TAEBM Wz
1
2 | HP52 [CikshEm (AR MU 2) 1 170 HEAIRT
3 | HP53 |[R7PUT (6201DDU) 1 1,050 HHarR T
4 | HP54 |RPYFTHIN— 1 1,050 HigiR T
5 | HP55 |77~F277(100V) 1 27,960 ek T
6 | HP56 [Dwi+v(A) 1 170 HieiR T
7 | C172 |[R7PUDT (608VV) 1 1,260 ek T
8 R7oo0vo 1 170 ISR T
9 | HP59 |¥J=xRvk 1 2,030 ek T
10 | HP6O | D7 A4R 1 840 ek T
11 NAYYETURD (D5X%60) 2 170 HEAIRT
12 | HP62 | X7—%(100V) M&EI13ZED 1 9,160 ek T
13 | HP63 [JZ5V%—=F)L 2 460 HigiR T
14 | HP64 |I\D T HMEFE16. 17288 1 9,160 HHafR T
15 F—LTL—hk P mhmmfta el | 1 — Hiaik T
16 NATUYTEIEHRUD (M4 X6) 1 170 IR T
17 | HP67 [h—iRikILy 2 1,050 HieHR T
18 | ZCO1 |h—hoT3Y (7X11x17) 158 1,030 IR T
19 | NM17 [A—RUFvv T 2 910 HHafR T
20 Y R—LTL—h~ 1 — IR T
21 | HP71 |axu% (50092) 2 270 IR T
22 | HP72 |O0x0% (50091) 1 200 IR T
23 | )J—R"JAY 1 170 Hiark T
24 | HP74 |JbO—S54#A ME2550 1 22,250 HieHR T
25
26 JS5IMIIvEIRL (DAX12) 1 170 HHaIRT
27 IS5 IMIIvEIRLE (D5%X25) 4 170 IR T
28 | HP78 |/\>RJL(B) 1 1,790 HHaIRT
29 IS5 IMIIvE R (D4%X20) 2 170 IR T
30 | HP8O [FUAR1YF 1 2,550 HHafR T
31 IS5 IMFIvEIRL (DAX16) 4 170 IR T
32 d—RJ)y T 1 170 HHEAIRT
33 | HP83 [O—k7P—% 1 470 HHafR T
34 | HP84 |FvJ%91/v1—R (2.6m) 1 3,060 HHEAIRT
35 | HP85 |/\URJL(A) 1 1,630 e T
36 | HP86 [E9—Iv Tk 1 11,190 Rk T
37 | WLAL (R TEY (4%10) 1 170
38 | HP88 |axu 710 L —hk 1 1,740 HIeIRT
39 | HP89 [Z—FRILEY (D5%19.8) 1 240 Rk T
40 | HP9O [/\1ZR—=2X 1 11,950 HIeIRT
41 | HP91 [Ovk 1 3,320 eI T
42 | HP92 [RILk 1 8,650 HIeIRT
43 | HP93 |71 RV AE—2X 2 400 Rk T
44 | HP94 [Fx—v 1 9,660 HIeIRT
45 | HP95 [Fz—o/I\12—= 12| 48,280 HiaIRT

ZB24 |7"BEXINS (EV4) 1 170

HP96 |#%7—2X 1 30,500 HAGIRT




